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B W HE #5 39 38 77 7.2| 69.8 62 /7 |[FO —ih 54 50 104| 28.8| 75.2 123 A | BW A 47 60 107 28.8| 78.2

MEME RS | BB o5 i 38 39 77 7.2| 69.8 63 fi | LM EE 38 41 79 3.6| 75.4 124 fi7 | K% E3E 44 44 88 9.6| 78.4
3| B I 41 41 82| 12.0| 70.0 64 AL [PE5H F 46 45 91 15.6| 75.4 125 i | FHiE 5k 52 48 100 21.6| 78.4
4 {7 | B Fadke 47 47 94| 24.0| 70.0 65 {7 | JIIAT Wi 49 42 91| 15.6| 75.4 126 {7 | fEFT 235 52 48 100 21.6| 78.4
5 {7 [HEl iR 42 43 85| 14.4| 70.6 66 fir | MR Zi 51 46 97| 21.6| 75.4 127 A | A A 50 56 106| 27.6| 78.4
6 fr | ANE 42 42 84| 13.2| 70.8 67 {7 | A H FK 53 56 109| 33.6| 75.4 128 {7 |fEH =% 59 53 112 33.6| 78.4
76| oI K 45 43 88| 16.8| 71.2 68 fif [iEA EA 43 47 90| 14.4| 175.6 129 fi7 | "= B 54 51 105| 26.4| 78.6
8 |4l EIA 46 48 94| 22.8| 71.2 69 i | ki & 46 44 90| 14.4| 75.6 130 i | /NI BE— 53 52 105| 26.4| 78.6
9 fr | A 44 40 84| 12.0| 72.0 70 L | HEET 47 43 90| 14.4| 75.6 131 A7 | HEAR IEA 54 57 111| 32.4| 78.6
10 7 | KH [E5L 48 48 96| 24.0| 72.0 71 07 [ ERE fE R 49 47 96| 20.4| 75.6 132 A7 | KJII S+ 60 57 117| 38.4| 78.6
11 7 |5 &5 54 47 101 28.8| 72.2 72 7 | 52 50 102 26.4| 75.6 133 fi7 | AR Bl 46 40 86 7.2| 78.8
12 A7 |k E %A 40 42 82 9.6| 72.4 73 fif | B HEd: 50 52 102| 26.4| 75.6 134 ff |3 fn % 51 47 98| 19.2| 78.8
13 {7 | AA 47 41 88| 15.6| 72.4 74 L | KRR TR 54 48 102 26.4| 75.6 135 fif | kA P 50 48 98| 19.2| 78.8
14 {7 | )1 BoE 37 44 81 4| 72.6 75 L | FEAF 45 58 50 108 32.4| 75.6 136 0L | f& 1 44 47 91 12.0| 79.0
15 A [ H EZ 39 41 80 .2 72.8 76 07 | % =R 42 41 83 7.2| 75.8 137 fi7 | KR Fif 49 48 97| 18.0| 79.0
16 {7 | \NH T/Z 43 43 86| 13.2| 72.8 77 N5 | FE Ok 42 40 82 6.0| 76.0 138 Ar |4k Fak 49 48 97| 18.0| 79.0
17 7 [ 22 42 37 79 6.0 73.0 78 ff | BAS T 46 48 94| 18.0| 76.0 139 7 | i BT 51 52 103| 24.0| 79.0
18 i |¥ o fi 42 43 85| 12.0| 73.0 79 0L [ /NPE KK 49 45 94| 18.0| 76.0 140 {7 | LA & 58 57 115 36.0| 79.0
19 4f | @Ed 5 46 45 91 18.0| 73.0 80 fir [HH FAI 45 49 94 18.0| 76.0 141 A7 [ AR =6 63 52 115 36.0| 79.0
20 {7 | ) #i = 39 39 78 4.8| 73.2 81 fif |l & 49 44 93| 16.8| 76.2 142 A | N E—BR 60 55 115| 36.0| 79.0
21 ff | IEE 45 51 96| 22.8| 73.2 82 AL [#F =5 45 48 93| 16.8| 76.2 143 A | #E1L AT 51 50 101 21.6| 79.4
22 Nr | R2A 44 52 96| 22.8| 73.2 83 ir A&l K 49 44 93| 16.8| 76.2 144 iz |l % 55 52 107 27.6| 79.4
23 r [Faql 1] 42 41 83 .6| T73.4 84 fif |f&7H 5l 45 48 93 16.8| 76. 2 145 fif | H ¥ f— 45 49 94 14.4| 79.6
24 L |7TN R H 40 43 83 .6| 73.4 85 fir [#ex A fF1T 55 44 99| 22.8| 76.2 146 fr | BB AFK 47 47 94| 14.4| 179.6
25 i |FEB B 44 45 89| 15.6| 73.4 86 A [Hir B 41 39 80 3.6| 76.4 147 fir | HH ZFH 48 45 93| 13.2| 79.8
26 fir | (Lo 3w 44 45 89| 15.6| 73.4 87 i |0 B 44 48 92| 15.6| 76.4 148 {7 | #& L4+ 57 54 111 31.2| 79.8
27 fr @& R 41 41 82 8.4 73.6 88 NI |Z2HE o 50 48 98| 21.6| 176.4 149 i | EEH JEKE 53 58 111 31.2| 79.8
28 it |HH AZ 49 39 88| 14.4| 173.6 89 A | FAA FHA 49 49 98| 21.6| 176.4 150 fif [ 61 54 44 98| 18.0| 80.0
29 fir | #)I 8L5E 39 42 81 7.2| 173.8 90 i [JAT B— 43 42 85 8.4| 76.6 151 fif | B 2 ¥ 357 47 51 98| 18.0| 80.0
30 7 [k #Eep— 45 42 87| 13.2| 173.8 91 47 | & w1 49 42 91 14.4| 76.6 152 7 | fEA 48 50 98| 18.0| 80.0
31 07 |FEH HERE 42 45 87| 13.2| 73.8 92 fif | FF JE—RB 46 45 91 14.4| 76.6 153 fir | & % 50 47 97| 16.8| 80.2
32 I [BRa 1E K 47 46 93| 19.2| 73.8 93 {7 | WIRE AR 44 53 97| 20.4| 176.6 154 (L WA % 50 47 97| 16.8| 80.2
33 NL | K KA M 45 41 86| 12.0| 74.0 94 {7 | AAT w55 47 50 97| 20.4| 76.6 155 fr | e 2 K AT 50 47 97| 16.8| 80.2
34 fir | IR OHETE 42 44 86| 12.0| 74.0 95 fif | FET 50 53 103 26.4| 76.6 156 i |[#BAR Fik 54 48 102| 21.6| 80.4
35 fr | AR B 44 42 86| 12.0| 74.0 96 fir | A H 54 49 103 26.4| 76.6 157 fir | UK FR 49 52 101| 20.4| 80.6
36 {if |FEEE BA 51 53 104 30.0| 74.0 97 fir | L E R 47 43 90| 13.2| 76.8 158 fir | & H = 59 54 113 32.4| 80.6
37 0L | BrH IER 52 52 104 30.0| 74.0 98 fir | Il B& 45 45 90| 13.2| 76.8 159 fr | A K= 50 50 100 19.2| 80.8
38 N7 | Rl 7% 39 40 79 4.8| 74.2 99 i [EA B2 43 47 90| 13.2| 176.8 160 Nif | FAH FLA 1 53 53 106| 25.2| 80.8
39 7 |1 RS 52 51 103| 28.8| 74.2 100 {7 | 76 AT 18 49 53 102 25.2| 76.8 161 0L | t& e 1T 48 51 99| 18.0| 81.0
40 fir | ZJF hHE 38 40 78 .6| T74.4 101 i | FAT B3 60 48 108 31.2| 76.8 162 0L | LA 32 55 56 111 30.0| 81.0
41 {7 [1LH # 41 43 84 6| T74.4 102 i | ¢ BB 52 56 108 31.2| 76.8 163 {7 | L)1l 46 52 98| 16.8| 81.2
42 47 | 8 FEEE 44 40 84 6| T4.4 103 {7 |f&H F= 58 56 114 37.2| 76.8 164 7 | 95 5 4hE 53 51 104 22.8| 81.2
43 fr | = 1= 42 42 84 6| T74.4 104 i | B 46 49 95| 18.0| 77.0 165 {7 | BB 7% 62 54 116 34.8| 81.2
44 f7 |7 EAT 46 44 90 15.6 | 74.4 105 {7 | FAT 3= 49 52 101 24.0| 77.0 166 A7 | ¥ 5L 54 54 108 26.4| 81.6
45 Az |4 E = 44 45 89| 14.4| 74.6 106 7 |3 = 50 51 101 24.0| 77.0 167 {7 |79 54 54 108| 26.4| 81.6
46 Nr B Foh 46 43 89 14.4| 74.6 107 A [ 77 JE ke 54 52 106| 28.8| 77.2 168 A7 [ | &R 49 56 105 22.8| 82.2
A7 A7 | (L OB RE 49 46 95| 20.4| 74.6 108 {7 | A% i 52 54 106| 28.8| 77.2 169 {7 |$5AK 157 60 57 117 34.8| 82.2
48 fr | F4x %W 49 46 95| 20.4| 74.6 109 fi7 | A RIL 54 52 106 28.8| 77.2 170 {7 | AR #8595 55 49 104 21.6| 82.4
49 fir | b B 47 48 95| 20.4| 74.6 110 {7 | B#G 16 = 55 49 104 26.4| 77.6 171 fir | JIVE 225 57 58 115| 32.4| 82.6
50 fir | (Lo g 52 49 101 26.4| 74.6 111 7 | T %1 55 49 104 26.4| 77.6 172 {7 | A NET 57 62 119| 36.0| 83.0
51 {7 |52 H B5AI 45 43 88| 13.2| 74.8 112 7 | &) 46 39 85 7.2 77.8 173 {7 | | ik 51 48 99| 15.6| 83.4
52 {7 |AbHs st 51 49 100| 25.2| 74.8 113 7 |25 &1 43 42 85 7.2 77.8 174 fir |k @0 BT 63 61 124 39.6| 84.4
53 i [#29F tHE 44 43 87| 12.0| 175.0 114 7 | i Fid 43 48 91 13.2| 77.8 175 i | K F #23C 61 55 116 31.2| 84.8
54 fif [P IEVR 50 43 93| 18.0| 175.0 115 {7 | B 54 49 103| 25.2| 77.8 176 fr | AR R 61 54 115 30.0| 85.0
55 {7 | Eh b JE 49 44 93 18.0| 75.0 116 {7 | H LB SRR 53 50 103| 25.2| 77.8 177 A2 | ) =T 65 60 125 40.0| 85.0
56 {7 | HAR fRiE 50 43 93| 18.0| 75.0 117 7 | A EA 61 54 115 37.2| 77.8 178 fir | 1K Z— 56 51 107| 20.4| 86.6
57 fir | I L3 50 49 99| 24.0| 75.0 118 fif |fEm &5 52 56 108, 30.0| 78.0 179 fr | e x K 65 60 53 113 26.4| 86.6
58 fir |IUA FR 45 41 86| 10.8| 75.2 119 {7 | H E & 54 54 108 30.0| 78.0 180 fi7 | FHE {50 59 57 116| 27.6| 88.4
59 i |¥BFf E 46 46 92| 16.8| 75.2 120 {7 | T —% 55 59 114 36.0| 78.0 181 {7 | Ik #iE 73 64 137 40.0| 97.0
60 {7 | 76)Il fF17 47 51 98| 22.8| 75.2 121 i | 2H R 52 43 95| 16.8| 78.2 182 fif |3 A H+ 73 65 138| 40.0| 98.0
61 fir | TR #ik 50 48 98| 22.8| 75.2 122 7 | Y2 Fov- 50 45 95| 16.8| 78.2




